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1 Whlch of these amino acids are present in 'Quallty Protein Malze in hlgher
' quantities ? ' : '

(1) Histidine and isoleucine  (2) Leucine and methionirie

(3) Threonine and valine : = (4) Lysine and ‘tryptophane -

ﬁwﬁﬁ.aﬁ%@raﬁe’rm Wmﬁﬁw ﬁmﬁmwﬁtﬂq

1) e Gﬂ%’éﬁﬁg@lﬂ @ zfgea T efauam

(3) aﬂuﬁsﬂaaagq @ ﬁs@?a%@ﬁﬂ '
2 'Ye'l,lpiﬁf_'ﬁe_{?qlet_ien is related to :

(1) Pulses B " (2) Oilseeds

.' (3) Meatt' __ | | ©.(4) Vegetables .
et e P e ¥ 7 |
)y @ () e

¢ ¢y w5\ o (4) et ¢

3  How many. three budded sets will be requ1red for plantmg two hectare
sugarcane crop. ? - : 2

(1) 20,000 -25000 (2) 30,000 - 40,000

(35 70,000 - 80,000 (4 90,000 - 1,00,000 .
ﬁ%ﬂ?ﬁﬁ%ﬁﬂ%gﬂé%@?ﬁﬂmaﬁﬁmﬁwaﬁmamu@ﬁ ?
(1) 20,000 - 25,000 (2) 30,000:- 40, 000 .,

(3) 70,000 - 80,000 (4 90,000 - 1.,00,000';,.-_-_:.1_-.___,,_'

4 Bikaneri Nerma Bt Cotton was developed at :

(1) RAU, Blkaner \ \ (2?'- IARI New Delh1
(3) UAS, Dharwad ) TNAU Coimbatore B
S o I ?:ra Rl w1 T o
M vmqq{%ﬂ?mﬁ? @ Mﬁqmer%ﬂz‘ﬁﬁﬁ
3 zmtre, @) ATy eEEy
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5  The herbicide Carfentrazone is used to control weeds in :

(D) Wheat o (2)- Maize
. (‘3__.) Paddy ' (4) Cetton

9T g fFe Wew § @iuqad faasvr %g ugfﬁ A 7
RO & . wmm .

Gy wm @ T

- 6 Ajmer comes under which Agroclimatic zone of Rajasthan ? .
| (1) Semi-arid eastern plain
(2) Flood prone eastern plain
(3)  Sub-humid southern plain
4 Irrigated. north western plain
- I, TRAM % T6E F-SeaEsd @vs ¥ emar ¥ 7
() o g g e
(@ s wEE gE AR,
) o o <Rl A
(4 fifm s afel faw

7 The rago between area of crop irrigated and quantlty of water applied to
crop is termed as * '

) Duty - B (2) Delta

(3) Base period . A - (4). Irrigation quotient
Wﬁﬁﬂé%ﬁaﬁﬂwaé‘fﬂs‘ﬁﬁw%ﬁmﬂﬁmﬁm%
O sz L@ =
m%%~ o @ R s

8 What is the recoﬁ;mended rate of application of the herblclde metsulfuron
in wheat ? _ : _ :
() 4gha . , (2) 10 g/ha
(3) 16 g/ha B s @) 22¢g gha -
Ig snwsﬁﬁmwma%ﬁwr&mﬁnéaﬁnﬂw% ?
(1 4wy - @ omE s
(3) 16w/ @ 223,_1_1/.__%. o
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12

ICPL-87 is the varlety of _

(1) Green gram (2) Blaok gram -::"*' i
(3) Gram Yo 4) Plgeon pea,‘:k.:-.f:: _ ;
g W &r qrrf - 871’65{{ SRR T | f-,
(1) TT . ) T ,'_ ‘-"W

(3) = | @) IREe EE ¥

ki

Excavated ponds are conistructed advantageously in * areas for ruhoff
collection. - - T

(1) Hilly | o (2) - Flat

(3) Both of these ' (4) None of these ) L
ATAET UL v st & e e ¢ s @l & R o
THaT ¥ | , |
(1) w&= @) Ferh

(3) TR | : () . ﬁo‘é’[ 1? =i

The safe limit of land slope in border 1mgat10n, method in. medlum Ioam
soil 1s :

(1) 0.05-0.20% C () 0.20 - 0.40%
(3) 0.40 - 0.60% (g) ,0.60 - 0.80%

@mqﬁmﬁfﬁﬁqma@ﬁﬁm%@gﬁaiﬁw%

(1) 0.05 - 0.20% (2) 0.20 - 040%

(3)  0.40 - 0.60% (4) 70.60 - 0.80%

Supplementary pollination is recommended in :
(1) Sunflower (2) Soyabean '
(3) Mustard G Groundnut

mewﬁﬁaﬁﬁwﬁﬂﬁﬁmw% 4
oy gEE (2) Qe

(3) Txaf (4) HIeRl
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How much area of total area for transplantmg is requ1red for raising paddy'
‘inurseryf? g o
) 5% - @) 10%
e 1% 4 20% ’
"—'rma%@mg@aam{m&maﬂﬁﬂga@a 2.
ay, 5% - @) 10% L
G) 1% | R (4)' 20%
~thh of these species of Rhfzobmm s cla551f ed under slow growmg type ?

15

' (I) R.mililoti ' o (2) Rumrifolli
(). R hipini ‘(4) R leguminosarum
ﬁwﬁ%ﬂéﬁl‘rﬁmaﬁﬁ? Y gt %ﬂﬁlﬂﬂﬂﬁﬁeﬁ%maﬂwaﬁ
0w a%ﬁa?z? @ T e
C® wme, @ v dgprre
Herbit:ide_ par'aquat is recommended for the control of cuscuta weed in
(1) Berseem : (2) Lucern - |
(3) Oats - . (@ Barley

SR IR I ﬁﬁ&r fr’“anﬁﬁ —gryaEr” frsel ¥y fawiie e

Ty anﬁq @) T

16

© W DRt @

What is the seed rate of isabgol ?

(1) 6-8 kg/ha P (2)' 10-12 kg/ha
(3) 13-15 kg/ha o (4) 1820 kg/ha
TEEE B - ¥ 7

() 6-8 fem R, 2) 10-_12“ ﬁm/%.
(3)  13-15 R 3. @) 18-20 RpurjE.
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20

21

% Ky = % K X

(1y 12 (2) 22 : o
(3) 3.2 (4) 42 - .

Which of these elements. can partlally substitute' Molybdenum in mtrogen .
tixation by Rhizobium ?

(1Y Sodium S (2) Silicon

(3} Vanadium (4) Copalt

foret % & W maarréﬁhﬁuqmﬂmﬁuﬁaﬂwﬁq’r\%ﬁ%ﬂnwaﬂﬁm
T HT GHAT £ 7

(1) wifezy (@ fecleE

G) e 4) wEwE

How much percent of its urea requirement is met through indigenous
production by India ?

(1) 65 ' 2) 75
(3) 85 . @ 95
Waﬁq&mmwﬁnmmﬁmaﬁsﬁwﬁwm% ?
() 65 @ 15

(3) 85 (4) 95

The growth regulator that stimulates cell elongation is :

(1) Ethylene ' (2)  Abscissic acid -
(3) Cytokinin (4), -~ Auxin '
ﬁﬁwqﬁgﬁﬂmaﬁﬁmmﬁwﬁﬁmw% ?
(1) gerei @ Rl s

(3) wEAHER (4) it |

L

The biofertilizer that can neither be cultured in the.absence of living roots
nor isolated on agar plate by standard microbiological technique is :

(1y VAM ' (2) Azospirillum

(3)  Azotobacter (4)  Rhizobium

o5 Fa sdtw e gade = ot shfvm @ @ st # Rea o e,
& W geu AR aER E o W N gus fea o W - ¥
(1 == | (2) woEERe

(3) gaRREwRY )
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24

25

!
.Whic'h of these clrop'.s is c;omp_aratively ﬁlore' tolerant to saline water ?
1) Maize  (2)’ Wheat |
' (33 Soyabean (4) Barley
P ¥ & B0 waw omEgd &Y ¥ el e & wi ot westa ¥ 7
(1) wet 2 M
() e @
Golden rice was designed to produce , a precursor of Vitamin A.
(1) Beta carotene - (2) Alfa carotene
(3) Gamma carotene (4) Zeta carotene
T A T PP ¥ enrmd ¥ s g e Rean
T E |
(1) @t BAE (2) TER HIAEA

@) T BN @ e FAE

In India, highest‘ productivity (kg/ha) of bajara is in the state of :

1 Rajaéthan . (2) Haryana

(3) Uttar Pradesh .{4) Madhya Pradesh
et 3 R T ¥ T A sewa (Rew) wettm ¥ 7
(1) T @

(3) T WA . @ uwmwmw

The worldwide radio-navigation system formed by a constellation of 24
satellites is : ' ' '

() GIS | | (2) GPS

~(3) VRT _ (4) DSS :

g ¥ 24 wuwel % W i YR Irter WO # wed ¥
(1) = a8 uw (2) St 9wy '

@) @ eamA (4) @ uw uH

02 /BO2_A] | 7 o [Contd...



for more materials visit www.educationobserver.com/forum

26

27

28

29

- For how many days ‘Medium Range Weather Forecasting' is valid ?

1y 13 @) 3410
(3)  10-15 @) 1521
Ao araly @ e uhrganh e R S R Yy e ¥ 2
(1) 13 | (2) 3-10
(3)  10-15 ‘@ 15-21

The other name of IRS-P6, a stale of-art satellite mainly for agricultural
applications is : -

(1) RESOURCESAT-1

(2) RESOURCESAT-2

(3) CARTOSAT-2B

(4) RISAT-2
@fﬁr@wﬁﬁmmﬁaﬁﬁwmgﬁiﬁmmmwmémm—_
ey ?

(1) oNET@ah g AR & §umgd - |

2) RIS T@WalgoaRAE Wy a - 2

(3) MUuaRAMTaUd - 2

(4 IRagwEwd -2

In.which of the following crops, calcium nutrition is of greater significance ?

(1) Mustard (2) - Soyabean
(3) Groundnut (4)  Sunflower
Prer 3§ P F S G ot weEwt ¥ 7
(1) weE @) wadE
(3) kel 4 qogE

In dapog method of nursery raising of paddy, the seedlmgs are ready for
transplanting in how many days ?

(1) 8-10 @) 12-14

(3) 2022 (4) 28-30
%ﬁﬁﬁmaﬁﬁw%wﬁmﬁ%ﬁﬁuﬁ%%ﬁ%mﬁ
W ¥ 7 '

(1) 810 ) 12-14

() 20-22 (4) 28-30

02/B02_A] 8 ' [Contd...
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32

33

The optimum temperature for wheat germination is :

(1) 25-27°C (2) 20-22°C
(3) 15-17°C (4)  10-12°C
T % oigror ¥y s AwE ¥

(1) 25-27° 4. ' (2) 20-22°9.
(3) 15-17°4. @) 10-1207,

- Detachment and transport of soil particles by a concentrated flow of water

is called : ’
(1} Raindrop erosion ' (2) Sheet erosion
(3) Interrill erosion (4) Rill erosion

UMl % W 96T W YaT WOl @Y gedhdr 9 UEET @t wed T
(1) == &I g7 e (2) e®H ATET
(3). wmwrﬁwfamm C(4) ST SaTEs

Spraying of kaoline reduces transpiration from leaf surface by :

(1) Stomatal closure - (2) Forming a film

(3) Increased reflectance _.(4) Increased hydration

ol % R & wh B www ¥ s ¥ o g Rl A R
() T '(2)'ma=ﬁ%‘f

() vitfeT afs @ (4) e ¥ ghe @

The Agroforestry system in\}olving crops + trees + pasture + animals
1s called :

(1)  Agri-silviculture ., (2) Silvi-pastoral

(3) Agri-horticulture (4)  Agri-silvipastoral

WA + TH + ARE + Ul ¥ Bt R A o ad ®
TG ‘

(1) it - Reedtder Q) R - T

3) T - e @) T ReedrRe

02/BO2_A] 9 |Contd...
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34  With which of the following crops, Cichorium irrgfb-:.¢.§' weed is associated ?

33

36

37

(1) Berseem (2) Wheat

(3) Oat (4) Napier grass
ﬁﬁﬁws@@ﬁmﬁwﬁ%%&mﬁaﬁﬁh% ?
(1) =xEm™ | 2 T

(3) : (4) T

Which of these elements is 1mportantm stabilizing various enzyme systems
in plants ? ' -

(1) Nitrogen (2) Phosphorus

(3) Potassium, | (4) Sulphur
ﬂeﬁﬁﬁsuaasuﬂﬂﬁfﬁ;ﬁﬁmaﬂ%ﬁﬁﬁrﬁ@ra?wmaanw@% ?
(1) T S (2 wERE '

(3) wWehmm (4) TH

In the year 2008-09, the totai NPK consumption in R‘aj asthan was how much
thousand tonnes ? e

(1) 1052 | @ _1.1_5"_2" |

(3) 1252 ’ @) 1352
aﬁzoosmﬁmwﬁﬁgﬁrmthasa%wﬁmﬁwaeﬁ 7
(1) 1052 2 1152

(3) 1252 - @ BR

The per héétare_ NPK consump'tion (kg/ha) in Rajasthan during 2008-09
was :

(1) 58.8 | | @) 48.8
(3) 38.8 (4)- 28.8

oS 2008-09 N TrTEE § ufy oy wA @ % Rew /) Y wud A

(1) 58.8 () 483
3) 388 4) 2838
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39

40

41

NNV A
The soils difficult to cultivate because of high expansion and contraction
due to high clay content are classified as :
(1) Vertisols (2) Alfisols
(3) Histosols (4) Inceptisols
Afies giienl & BRI 3o Tt 99T 89 § R geek 6 5o w5
(1) = @) evhER
(3) = (4 gl

"The first step in traversm;, for mappmg is

(1) Study of geology of area

(2) Field mapping of area

(3) Reconnaissance surveying of area
(4) Observing relief of area

A H IR @) gl 9iel &
(1) ‘3@ & sprieme stemas
(2) maﬂawmﬁw

(3) IEH & srhEe areTEe

(4) T B I B STaErE

»

The nitrogen percentage in humus is about -

(1) 4-45% - 7 (2) 5-55%
() 6-6.5% @) 7-7.5%
TR BT g Eh‘?la s*cFﬂ Bk

(1) 4-4.5% {25 - 5.5%
(). 6-65% @ 7-75%

Upon flooding, the phosphorus avallablllty n soil :
(1} Increases -

(2) Decreases :

(3) First increases then decreases

(4)  First decreases then increases

wwaw@%wamﬁm?ﬁwﬁam
(1) =l % |
(2) TR

(3) UsW Fol ¢ fipT wedy

(4) usH Tt ¥ fET Tody ¥

02/B0O2_A] | 1t {Contd...
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42  The gypsum equivalent of iron pyrite used for reclamation of sodic soils is :

1) 0.85 @) . 019

(3) 129 4 0.63

i gl et 3w W ETEE B R gedi &
(1) 0.85 @ 0o A
3) 120 @) 063

43 The most practical method of aonl_‘é: bfdb%lgatior._l 1

(1) By seeds | (2)"Budding'
(3) Grafting 4@ Cuttmg '
st o1 wdeeEr yadT alm m Y 7
(1) &z | ) @
(3) A @ w

44 1In India fully ripened and'dehydraté:d" deve'lopmcntal stage. of date palm is

termed as : T
() Gandora @ Doka

(3) Dang | (4) .Pind .. .

v ¥ e wfe @ Proffe gfe st @R @ e §
(1) TR | o @

(3) =W @ ﬁlﬂ‘é -

45 To transplant one hectare land, how ‘many grams of brinjai seeds are
sufficient ? ) :

(1) 500-700 : ©) 1000-1200

(3)  1500-2000 (@) - 250-500

¥ i # R g, ¥ @ R T e T e d 7
(1) 500-700 )  1000-1200

(3)  1500-2000 | 4)  250-500

02/BO2_A] - 12 [Contd...
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47

48

49

S0

The seed rate (kg/ha) of ladies finger for rainy season crop is about :

(1 10 2) 15

G) 20 ' @) 25
mﬁﬁwﬁw%@ﬂmﬁaﬁaﬂ ﬁﬁm/%)mwsatﬁa‘cﬁ%
10 . @) 15

3 20 @) 25

Which of these varieties is of 'Shima Mirchi' ?

(1) Yolo wonder ~ (2) Pusa jwala

(3) Jawahar-218 o 4 ‘Phule jyoti

Fe & ¥ e e v RP @ 3 ?

(1) @l o=y @ s

(3) wEET-218 @) W iy

‘Whipe tail disease' of cauliflower. 18 caused by the deficiency of :
(1) Molybdenum (2) Boron

(3) Zinc ' ' (4) Phosphorus

i o %rtr%?r’c‘znf%x fow & wh ¥ AN E 7

(1) wefifsTm .. @) A

(3) S "'_ Y () ERERE

For small seeded types, the seed f_él_té (i{g/ha) of water melon is :
(1 1-15 @2 2-25

(3) 3-35 (4) 4-45

T W B qw A Rowl 3 A T (R ) T A E
(1) 1-15 _ Tt @) 2425

-

3) 3-35 (4.) 4-45

Preplanting treatment of Gladiolus corn with is responsible for
increase in number of daughter corms. '

(1) GA . @ Ethel

(3) Cytokinine “ - (4) Any one of these
AT s % e gd 3 STER dar e B den
A ogfe g v A g '

() stg ) @

(3) wTEREERE @) A B A

02/BO2_Aj 13 | " [Contd...
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S

For good pollination, how much percent male plants of papaya are necessary '
in an orchard ?

I3

1y 5 Y2) 10

G) 15 @ 20

eﬂa;wm%g aﬁaﬁu&rﬁ%ﬁmﬁqﬁfmﬁréﬁmmsﬁ% 7
(1) 5 2y 10 -

3y 15 @ 20 "

Mughal gardens are surrounded by :

(1) High wall (2) Low wall

(3) Water coarse (4) Spiny hedge
et s adl @ik F fred o Am v 7

(1) & dan (@) A dETe
(3). UEI W U@ (4) AW T

Fruit squashes having plenty of pulp are known as.:
(1) Fruit syrup () Cordial "
(3) Beverage (4) __Né.c;ar'.‘ R
(1) & s @ e
(3) T AR (@ gy

N

Which of these planting systems of orchatds has the provision of quick
arowing and early maturing filler trees :

(1) Hexagonal - (2) Triangular
(3) Rectangular (4) Quincunx

e TReel ¥ 3 A ¥ B ﬁhﬁwﬁﬁ@aﬁqﬁaﬁwqa

P! SR Bl § 7
(1) Tl @ Bt

(3) SR (4) dEgan

02/BO2_A] 14 [Contd...
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56

57

58

| Salt concentrationof ~ per cent is sufficient to preserve most products.
(1) 515 - 2) 1525
(3) 2535 (4), 35-45
sty Sl & aRRRm & %@ yRsTa e & " vl
LRI
(1) 5-15 - @) 15425
(G) 2535 @ 3545

What is the threshold per cent of dead hearts over which insecticides should
be applied in rice fields to control yellow stem borrer ?

(1 2 @) 5

3) 10 @ 15
e & da ¥ 99 T @ <o W Realt ¥ R s den @ dew
% frisor &g dreel @1 swE fem s R ?

®» 2 @ s

G 10 @ 15

_Whrch part of the groundnut plants the grubs of Holotrichia comangmnea

eat ? o « e

(1} Roots - - . . (2) Stem

(3) Flowers | - {4)  Leaves
Trqa—uﬁ%stﬁ‘ei‘rwa'e:aﬁﬂmwm%wﬁ gleIgIEiEaT BTy @ & ?
O o™ - (2) @

ORI OB

Which.of'these phosphides is ised as bait to control rats ?

(1) Alluminium phosphide ~  (2) Calcium phosphide

(3) Magnesium phosphide (4) Zinc phosphide

WHE B mmq@raﬁﬁv&aaﬂ%%@ﬁwﬁ%%mﬁmﬁm
ST ?

(1) TwgHites wiRwEs 2) Sivaan wiekEs

(3) WRmm wiewEs (@) TNw wieme

02/B0O2_A] 15 _ [Contd...
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59  Khapra beetle is :

(1) Trogoderma granaritm (2)  Rhizopertha dominica
(3) Sitotroga cereallela . (4) Sitophylus granarinm
T @O g E - '
() egrmEE AT (@) | T SIABT
() @i Rk (4) - arEEiEEeE 1ARET
v 60 The aiternate host plant for mango hopper insect is :
' (1) Neem - (2) Citrus.'
(3) Jamun ~ {4). None of these
A AT & FEH B B THIT ﬁﬁﬁara g %
(1y @ iz
(3) =TI (4) s ¥ @ W
61 The 1_15é of DDT in agriculture was withdrawn by the government in the
year :
(1) 1979 (2) 1989
(3) 1999 {4y 2009
@ﬁﬁ&ﬁﬁ%wmﬁvmﬂﬁwﬂnww%mm
(1) 1979 (2) 1989
(3) 1999 4) 2009'

62  Abnormal increase in pest populatlon followmg 1nsectlclde application 1s

termed as :

(1) Emergence (2) - Divergence

{3) Resilience (4} Resurgence . -
Bl A F are Tlehdar @ s ¥ orER sl @ Eﬁzé# e
(1) <& | @) foremm

(3) UEIE (4) W&Iﬁ

63 What is the threshold level of nymphs per leaf of cotton jassid to undertake
spraying of insecticides ?
1y 12 2) 34
(3) 5-6 (4). :7+8
e S % Tww B iy T e cede S e ¥R o sl &
oz won Al ?
(12 ' (2) 3-4
(3) . 5-6 - : 4 7-8
02/BO2_A] 16 [Contd...
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65

66

67

+

Rogor is the trade formulation of :

(1) Dichlovos (2) Malathion
3) Chloroﬁyriphos | (4) Dimethoate
TRTT ST TEWIRG GG & &

(1) TR @) WA

¢) wrmEtwE (4) srghane

Which of these states of India suffers the most from the outbreak of locusi

(1) M™adhya Pradesh " (2) Rajasthan

(3) Uttar Pradesh (4) Haryana

P § & s wRdiE T el ¥ 9w ¥ weite uf v s 7
(1) =T 7 | (2) TETEH

(3) TR w2 @ gﬁmun

The Plant Qurantine (Regulation of Impost into India) order was passed in
the year : o

(1) 1914 (2) 1947
(3) 1993 o (4)y 2003
drer Gy (ARE H oA wffrm) omde Rew ad ¥ wifd fn e en 7
(1) 1914 ) L {(2) 1947
(3) 1993 - (4) 2003

Which of these stétéments 18 correct in relation to vireids ?
(1) These were di_scoveredu—..by'Theodor Otto Diener.

(2) They consist of -small'-cirpularRNA.

(3) Their RNA lack protein coat,

(4) All the above statements are correct.

TS F Y F e ¥ § A wuw wd ¥ 2
() T i AR i s E @ T
(2) A B gEE AR T T ERT A e ¥

(3) TFE AR TT ¢ WAW o M g ¥

(4) Sure 9 BUd @l ¥

02/BO2_A] 17 |Contd...
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69

70

71

"Cereal Cyst Nematode" is :

(1) Heterodera avene | 2) Angzm:'d tritia

(3) G!obbdera pallida - (4) Meloidogyne 1'.ncognifa
() Redsw gfeft () gl AR

) lew e @) AT T

The __ content of nce '_plﬁnt'and its susceptibility to blast disease
are inversely related : . 7 _

1) Zinc . 2) Silicon

(3) Nitrogen ' '(4) ~ Boron

U @ Sy ofst o SEW e =y F wiy 3T
- yfaE: ¥ -

(1) @ Refe

(3) A L@ ARm

Green ear disease of pearl-millet is -charlabféfiZ¢d;_ by :

(1) Gall formation (2) * Honey secretion
(3) Rotting of ear o (4) 'Bﬁnchj;" ép’pearance
TR o T 3R =l few @ PR ad ¥ 7

(1) i F @7y i g

®) e @ wem @ T

The ﬁmgibide 'Carbendazim’ is a

(1)  Organophosphate (2) Pyrimidine
(3} Triazole _ : ({_I) - Benzimidazole
(1) omIsie @ e
(3) ;rraﬁhﬁ @) S<MEEw

02 /BO2_A} 18 [Contd...
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73

74

735

Which disease is caused by Sporisorium sorghi in sorghum ?

(1} Grain smut (2) Head smut
(3) Long smut (4) - Loose smut
e 3 @i d w e et i ¥ 2
(1) = B (2) R o
(3) < e (@) Y e

The white blister disease in cru’ciférs is caused by :
(1) Alfernaria brassicicola -

(2) Albugo candida

(3} Bacillus cereus

(4)  Fusarium oxysporum

i ¥ wihe B AT S 2v B ¥

()  emeeAiftar ST o

() qoga feer

(3) R Rforg

4y v SR

Whip like biack:shoqt is produced in sugarcane plant suffering from disease :

(1)  Smut - ~ (2) ' Blight

(3) Rust o _ (4) Rot '

T % i F Rew ety ¥ TRE A W B S A e a3 7
) @ @) s |

G) e S @ T

When two species of same genus are crossed, it is called
hybridization. '

(1) Interspecific o " . (2) Intraspecific

(3) Intervarietal | ..(4) Intercolonial .

TH B A B A gt F w B M LT HEd ¥ |

(1) o fafire S @) o fRe -

(3) iy Tl (4) sime IufEeh
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76

77

78

79

Genetic purity of seed means freedom of seeds’ from
(1)  Seeds of other crops “ (2) Inert material

(3) Other variety seeds = (4) Weed seeds
Ei’ﬁfzr?r HIE T Wmaﬁ%aﬁammm@m
() whwwmEdmd @) e @
(3) o fEEl & g g (4)@@331?%%%

i

What  degree of mb;cedmg, depr3551en is generally shown by self
poilinated crops ? :

(1) High (2) . yoderate
(3) Low ° (4} Almost nil
Ewmwﬁamﬁ?wﬁm‘%ﬁwm v gy & 7

(1) - (2) TI‘EIIT[

(3) %n:r @) T

Random change in gene frequency due to samplmg error is called

(1) Migration - (2) Mutatlon B

() Genetic drift ) Selection *"_""-
a{mwﬁg&%wﬁﬁa@%ﬁmwﬁaﬁaﬁzﬁsﬁ%
(1) wamE @) wated

(3) omEfiEs T dae @

In transgeunic soyabean, which gene produces ESPS that 1s relatively
insensitive o Ulvphosate ?

(1) aroA ' @) dw,
(3) rbsS 4) Cry

EH Wﬁﬁﬂwﬁ?ﬁﬁﬂ@?ﬁéwtﬁwwﬁﬁm%ﬁﬁﬁ’ﬁm
%g&rmﬁaﬂww%wﬁﬁa’ﬂﬁ% 7

(1) aroA @ _dwl
() rbsS . (@) Cry
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80  What is the minimum isolation distance for production of certified seed
of hybrid - peart-millet ?

(1) 200m 2) 300 m

G) 400m @) 1000 m

IR F WA ‘s‘i‘luﬂMcﬁH_%@ T ST 3 R g el ?
(1) 200 7. S (2) 3'5__)0 #.

(3) 400 . @ 1000 .

v
*

a
e

81 The per capita availability of mllk m lndla during the year 2009-10 was

about : . :

(1) 163g . :(z)' 263 g

G) 363 ¢ | 4 463 g

¥ 2009- 1oﬁwﬁﬁwﬁra&ﬁ§aaﬂwmﬁwﬁaﬁ ?
(1) 163 m. - (2) 263 7.

G) 363m - @)y 463 .

82 In case of poultry, the fe‘ed efﬁciency' indicates :

(1) Ratio of feed consumptlon to weight gamned
(2) Ratio of feed consumptlon to feeces passed

- (3) Ratio of feed consumpthn to total body weight

. (4) Ratio of feed. ddnshmptibn to number of eggs produced
Fage T % frww ¥ @ qw 5@ P ww ®
(1) @ GId Bl-aw wia o S ERIG]

) T W B i freer & ergura
(3) @@ @ B FW TARE a A S
(4) TR GG F SO IS B geN § I

83  The incubation period of Rinderpest disease in cattle is of how many days ?

(1) 3-10 (2) 3-7
3) 13 @ 13415
n&sﬁﬁﬁ%ﬁﬁwﬁﬁwmﬁmﬁﬁaﬁéﬁ% ?
(1) 810 2) 37

(3 13 (_4") 13-15
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84

36

87

88

"Merino' breed of sheep is :

(1) Mutton breed (2) Fine wool breed
(3) Coarse carpet wool breed  (4) - Apparel wool breed
(1) wig ¥g 7= (@) e o ¥g
(3) QR O &7 3 T (4) IR T ¥ T

‘Polyvalent tissue culture vaccine is uséd aigainst disease of cattle ?

(1) Rinderpest (2) Foot ‘and Mouth
(3) Anthrax - (4) Black quarter

. wgsei S waET S n&aﬁ’ra&’rﬁww&r%i’%@ﬂ?ﬁéﬁ% [
() T=us (2) TGH 9 Hguw

OB @) =% T

. Which of these is not a milch breed:of cow ?

(1) Malivi ' (2) Sahiwal

(3) Red Sindhi 4y Gir

T B A Y A T T E P
(1) e @ wEm
(3) e faeh @ Fo
Which of these is the Biggést gloat breed ? 1;’_
(1) Jamunapari (2) Surti }
(3) Mehsana : (4) Marwari
aﬁaﬁﬁqﬁéiﬁﬁé‘rwma@r% ?

(1) e | @ g

(3) wEEE o @) AR

Which of these is the most widely used cryoprotective agent for bull
spermatozoa particularty for frozen semen ?

(1) Fructose (2_);__ Glucose

(3) Manose (4) *; Glycerol

fem arresia 4R ¥ & F ypEgel g WAt wgE featam sifvawdt ¥ 7
() wER @) o |

(3) #= (@) T
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89

%0

The qfea is not'_employed-in amount higher than per cent of

the total concentrate feed of growing and lactating dairy cattle.
@) 3 @4 "

s . @®s

TN T W HEEE T & I 9% gm W tgfitn
ufrerd & erftrs w8 irlf%ft I

1 3 o (2) 4

® 5 S "; @ 6

Which of these is superiof- most system of grazing management of animals
in grasslands 7 '

- Contmuou_s grazing
(2) Deferred grazing

(3) Rotational grazing - -

(4) Deferred rotational grazmg '

ﬁmﬁqgﬁﬁrwﬁ—mﬁﬁsﬁﬁe&%wﬁraﬁmﬁr% ?

E 1) FrEead

91

92

() orafE

3) CIECEE arr{
&) enaehs"ﬂrrr emuﬁm fmi?

Which of thes’e_-_ﬁshes 'have to Spend more. energy to maintain homeostasis ?

(1) Fresh water ‘ (2) Sea water

(3) Both of these ‘ - (4) None of these

T ¥ e TERl @ wReRy T Te 3G ot oot e weh Ted ¥ 7
o T @
@) FEE | @ saatﬁﬁ'%ﬁéa-é’f
The density of water at 25°C temperature is :

(1) 9970.75 kg/m® (@ 997 075 kg/m>

(3) 99.7075 kg/m* . _"* (4) 9.97075 kg/m?
BT 25° ¥, T TER mr ‘EFk_':T ¥

(1) 9970.75 t‘qvm/aqﬁr @ 997.075 ﬁﬁm/?ﬂpﬁ
@) 99.7075 fﬁv‘ﬂ?}ﬂ‘ﬂ (@ 997075 Remja A
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93

94

95

Production of large quantity of dilute urine by fresh water fishes is responsible
for : : :

(1) Maintenance of proper water balance ..
(2) Maintenance of body temperature

(3) Maintenance of respiration .

(4). Maintenance of digestion

aﬁvﬁﬁﬁmﬁrmaﬁwﬁaﬁwmﬁﬁw%&%@m
T 7

(1) sfoa @@ Sged gem %‘gj
(2) R W U Fuwe %@
(3) gIET "YW ¥

(4) e HU ¥

Which of these is not a fresh water ﬁsh ‘?

(1) Salmon _ (2) “Catla

- (3) Mystus (4) Gambusia
Prer & @ G-l T At O a7
(1) =™ (2)
() TS @ W@ﬁw |

- 15 the measure of responsweness of the quality of a good or
service demanded to change in its price. -

(1) Price elastlcn:y of demand

- (2) Price elasticity of supply

(3) Income elasticity of demand

(4) Income elasticity of substitution

T 5 e oY aw] s det & i EII IR ERIEGH
B HIEW Bl ¥ | -

(1) =1 ¥ g % e

(2) U ¥ T & aomme

@) M ¥ 9= % e

(4) v 4 o ¥ wEAT
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96

97

98

99

A 51tuat10n of market in which supply is exactly equal to demand is
termed as : :

(1) Equilibrium (2) S'fabl_e

(3) Volatile G Unsta_ble

TR B gz s Rred qff g @7 gadE: gaet @ - weed
(1) wEge o @) fav.

(3) TEpes (@) afert

The entry of large business into agri-business has resulted in a new agreement
in raw material production and procurement known as

(1) Subsistence farming ~  (2) Community farming
(3) Contract farming " (4) Cooperative farming
@W%@Wﬁﬁﬂ@ﬁ%%%aﬂ%@ﬁ

(1) ShiqH-SamA ‘is&r -.35-‘“'.2'_'_;-'-(2) ARG By

(3 dfear Py (4) wewTdl HiY

India has been member of "World Trade Organization' since:

(1) 1-1-1995 @) 1414199
@) 1-1-1997 . @) 1-1-1998
ARG ﬁ:rsaamwwm mwaﬁrﬁ% ?
1) 1-1-1995 @) 1-1-1996

(3) 1-1-1997 (4) 1-1-1998

An auction market in which participants buy and sell for delivery on a
specified future date is called -

(1) Commodity market (2) Contract market
(3) Futures market (4) Open market

WWWWWWHWWW fafyr o sfator men
F — qE HEAT &

(1) gt s ‘   (2) RN | Y
@) wHwR T @) g AR
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100 The agriculture and allled sectors accoumed of how much percent of the -

101

102

GDP in the year 2010-11 ?° _
ay 162 (2) 1‘5'7
(3) 14.2 S(4)  10.5 | |
aﬁzoloufwﬁramaﬁ%waﬁwﬂmﬁuﬁmﬁtﬂw |
(1) 162 | ---(2)-' 15.7 -
G) 142 ' o (4) 105

In what proportion all the ﬁnaneiaf'flilabiiﬁt'ieﬂs under National Agriculture
Scheme is shared by central. and state govemments ?

(1) 75:25 - ‘@ 25: 75

G) 5050 o () 80320
@ﬁﬁmm%mmawmﬁmaﬂ%mm

waﬁﬁﬁe atgmaﬁam?r% ?

(1) 75:25 ° o _(z)"'_.z's_;'?s_

(3) 50: 50 o @) ._80 £ 20

What the products are called to be, when the increase in the level of one
does not affect production of other but adds to the. fotal income of farm?

(1) Supplementary enterprise
(2) Complementary enterpris.e..-' :
(3) Independent enterprise

(4) Joint enterprise

@w%mﬁwﬁﬁ@%m%wwaﬁéwﬁﬁ g
tﬁtﬁa&gﬁamaem Q‘@tﬁqﬁrﬂmﬁwaﬁﬁ ?

(1) T o o

(3) A I

02/BO2_Al 26 o - [Contd...



for more materials visit www.educationobserver.com/forum

103

104

105

106

(4) TR @ guE ; |

Which of these cannot be classified as ‘Mass Contact Method' of extension

teaching ?
(1) Leaflets ~ (2) Bulletin boards
(3) Frontline demonstrations  (4) Film shows

sﬂﬁ@rmﬁwaﬁﬁﬁ@rﬁr&r aﬁa%rr{ﬁfﬁ %mﬁmﬂ@—d
T B % 7

(1) uTH . '(2) gAfe @

(3) v Ul wed (@) el w

Which Agricultural Unlversn:y got sanction of first Krishi Vi gyan Kendra ?
(1) TNAU, Coimbatore -

(2) APAU, Hyderabad

3) KAU Trishur C

(4) UAS, Bangalore

fora Ffy favalmeaes = gwﬁﬁaﬁ%ﬁﬁ%ﬁrﬁeﬁaﬁ?
(1) & @ ©y, sEwe

2) TY g g, 3ER

3) w7y Bux

4) ¥ Ty, @R

The expenditure under JRY is shared between the central and state
governments in the ratio of :

(1) 50:50 - (2) 80:20

(3) 60:40 . . (4 70:30
ﬁma@%mﬁwﬁuawmwmﬁaﬁm% ?
(1) s0:5 . (2) 80:20

(3) 60: 40 @) 7030

In the programme planning process, the first step is :
(1) Analysis of situation

(2)  Determination of objectives

(3) Identification of problerris

(4) Collection of facts

BB A yREaT W yew Wi ¥
() fRafy & fyedwer
(2) el @ Praier
(3) wHE @ veaw

Tk
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107 Which of these laws of learning, indicate that the teacher should help the
learner to perceive the relationship ? ¢

(1) Law of readiness (2) Law of exercise
(3) Law of effect - (4) Law of belonging

ArEs & B mﬁm%m%ﬁﬁﬁwﬁ@@%aﬁaﬁﬁﬁraﬁw
¥ gewal B ARy 7

(1) W & P (@ e @ Faw
(3) wHE @ M o (4), GquﬂFf CORETE
. BRI '\-‘ BT -

108 ‘'Intensive Agricultural District Programme’ was started in :

W 1947 . @) 1955

(3) . 1960 _ | (4) 1965 |

et gy R w59 94 A arow Rean s 7

(1 )' 1947 (@) 1955 |

(3) 1960 @) 1965

109 Which of these programm’és fosters basic wage security ?

(1) ATMA | (2 MREGA
(3) JRY . (4 NAIP
'aﬂﬁ@fiﬁlﬂquﬁaﬁﬁwwaﬁmﬁﬁm% ?
(1) o (2) T
(G) W er af : 4 Wy W
110 "Directorate of Adult Education' of National Literacy Mission - India is
located at :
(1) Mumbai (2) Kolkata
(3) Chennai ¥ ' 4y New' Dethi
U@qmw&rm%ﬁa%ﬁ ﬁ%smﬁrcaﬁm el o R & 2
(1) T @ Bl
@) T | oS i feeeh
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111 The Krishi Vigyan Kendra at Pali (Rajasthan) is hosted by
(1) RAU, Bikaner |
(2)  CAZRI, Jodhpur
'(3) Pragati Trust, an NGO
(4) Gandhi Vidhya Mandir, an NGO
Tl (TeRarE) 4 Rag Sy e B feads g enfrdm wa ¥ °
(1) X T3, cHET | -
(2) @n, gL e
(3) mw,wmﬁﬁaﬁ -
(4) el Ry Hﬁﬂ e 3 u?f G?r afr

112 'ATMA* was introduced in 2005 06 to address the constraints of :

(1) CD @) T&v
(3) GMF " (4) HYVP
O 2005-06 % Rl el B qX w ¥g O K G gorl ?
1 & . @) ¥ s &

() e NOBRCE L

113 The most widely uséd measure of dispersion is

(1) Range L (2) Quartile deviation
- (3) Mean devxatron - " (4) Standard deviation
. waiftes v A Eiﬂ'ﬁ GN]%T{UT —Ag ¥

() e (2) sfaEgds fmem

(3) W fraes (4) W e

114 What will be the coefficient of determination if correlation coefficient between
two variables is 0,7 ?

(1) 0.49 - @) 4.90 -

(3) 49.00 - (4) Zero
uﬁa‘raﬁ%eﬁaw grvnaam%a’rﬁra‘rmgrwrcﬁwﬁm?
M 049 @) 490

()  49.00 o @y zero
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115 The square root transformation is done when observations follow a

116

117

() faw | L@

distribution.
(1) Poisson l | (2) - Linux
(3) Binomial . ~ {4)  Normal
SCRCCRIRE R I Lo BC B S R B GRS LR
(1) (2 o

= PR

ansider a factorial RBD".With_-'."faétors- 'X,' Y 'ﬁnd Z with levels a, b and c,
respectively. What will be SE for XYZ ?

2EMS __ | 2EMS

(1) ra o @) b
. 2EMS 4 ' 2EMS
() @

U qg-SUEHE Agieed T gsw sifveern ov RER S e JE
BRE X, Y GT Z & HR- T WY, a, b F ¢ ¥ 1 59 XYZ #Y SE o & ?

JEMS - ' 2EMS
B e

M

ra

2EMS . REMS L
G @

If the mean and standard’ deviation of maizi yield are 60 kg and 15 kg,
respectively, the coefficient of variation will be :

1y 40% )  30%

(3) 20% 4) 10%

oy TR WY SO % W @l AN Rraw HRy 60 Rew. 9 15 Rem. ¥
1 fereron-eries B o

(1) 40% ' -;=|5'?_(2')“ 30%

(3) 20% _ @) 10%
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118

119

120

NONE:

Which of these farm equipments combme the prlmary and secondary tlllage
in smgle operation ?

(1) Till plar_lt machine (2) - M.B. Plough

- (3) Rotavator ) Laser Ieveller

wﬁﬁ—m@ﬁmwmma%ﬁwmﬁwwﬁm
H AT 7

(1) fea—wre o S @ A

G)  IeR= | §4)__Q T TRTADRD

Which of the component of M.B. plough helps in mvertlng the ﬁjrrow
slice 7

(1) Share

(2) Land side

(3) Frog

4) Mould board

A, wwﬁwﬁ@rﬁﬂ mww&mﬂwﬁﬁwm% ?

(2) ﬁ“‘s’wzg -
(3) W
@) T [

Benvel square is an instrument used for :

() Makmg and measurlng (2) Cutting
(3) Planing (4) Striking
AT AT IIHT T ao-ltf %g 9'3,?5 BT :

(O] ﬁﬁﬁaw .:f_ (2) EaoR|

®) www @

02/BO2_A] 31 " [Contd...



for more materials visit www.educationobserver.com/forum

SPACE FOR ROUGH WORK | &= &1 % R wie

"
P
. .- *
R
3
¢
Ty v
<,
: 4
. 4
'
1
.
-
. e
¢ U
T %

02/ BO2_A] 2 R





